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Describe the motion of a passengar on 8 carousel horse, A sketch may bhe usad.

Iz e parson on @ moving carousel horse moving with a constant speed? Explain your
answer.

Which passengers sasm to be moving faster; these on outer horses or thosa on inner
horses?

Determine the cirgumferance of the cuter ring of horsas. This may be dona by measuring
tha dizgtanca between the support poles of two sdjacent horses and multiplying this
distance by the total number of spaces between horses.
Datermine the circumferanca of the outar ring of horses. This may ba dona by maasuring
tha distance between the support poles of two adjacent korses and multiplying this
distance by the total number of spaces between horses.

Calculate the linear spead of a passangar on an outer horse by dividing the cirgumferance
of the ring by the pariod of rotation.

Repeat guestion 4 through 6 for the inner ring of horsa.
Compara your answers 1o question 6 and 7. Did you answer gquestion 3 correcty?

Using the value you obtainad for the elrcumferencae of tha outer ring of horses in #4,
calculats tha radius of the outer ring.

Detarmine the centripatal acceleration of B passengar on an guter horsa using tha values
vou have obtainad for the speed and radius.

Use your accalarometar to measura the cantripetal ecceleration while riding a horsa on tha
outer ring. How does this value compare to tha computed value obteined in #107




